Bk 2 —1)

A —11 £ 1 T
==
sCEA BEEE e
4N s A H
TEEEER
HEREA Fl
4= J H
T =+ J& 1T ¥ & R
FHRIREBILRICESX,  ADDOTHEBITRWAEZRDO EBVHELET,
THEEKS ET oF0 A A
K T
T % 4 SERR 4 FH A A
THEHkS T~
100%
80%
60%
40%
20%
0%
A H A H A H A H A H A H A H A H A H
XK | K XK K K K K| K K K| K K| K| K K K| XK
I S /A S 7S S 5 S B S /S S N S N7 /A S 7S S S 7S S S S N S S /A S A
(HEIR )

BUGPAPTR © 32.26% (HFRIMEERIC L D)
SHRIA  31H BIGPARTHER - 10H

(B EIHAT)

(1) BRI RS T 7 L L TEIFAR. ERITERTRAT D,

1 i
2. BEBMIPEEBIC R DRI E LTH KUy,




TR A
T
R W
1 R
R W
fir &
no
T
R W
1 R
R W
fir &
o
T
R ¥
1 R
R ¥
fir &

>
)




Bk 2 —1)

A —11 £ 1 T
==
sCEA R e
4N s A H
TEEEER
HEREA Fl
L
T =+ J& 1T W = R
FHRIREBILRICESX,  ADDOTHEBITRWAEZRDO EBVHELET,
THEEKS ET oF0 A A
K T
T % 4 SERR 4 FH A A
THEHkS T~
100%
80%
60%
40%
20%
0%
A H A H A H A H A H A H A H A H A H
XK | K XK K K K K| K K K| K K| K| K K K| XK
I S /A S 7S S 5 S B S /S S N S N7 /A S 7S S S 7S S S S N S S /A S A
(HEIR )
BUGPHPTER © 32.26% (B IRIIERFICL D) THINO B 87H
SHEEAR - 31H HEPARTH R - 10H G117 B 27H

WIGEARTE  27/87=31.03%=28.5%
HAENLOMK 2 B« 2k CRERMR)

(BEIT)

I 70F, Ty T 7 L L, PRERRER, ERITERTLEAT D,

() 1. k&
2. BEEBMPEEBICe HRHIRIRE LTH L,




TR A
T
R W
1 R
R W
fir &
no
T
R W
1 R
R W
fir &
o
T
R ¥
1 R
R ¥
fir &

>
)




